RERE-AIVITRERRISOLVTHERER A

WEttEET S L
1054
100Bg keZ B A HH DO
BREHER

No BT REH HEDIELE ti 9 .L-134 trh L-137 SEE
Bag. kg Ba. kg Ba ke
1 SEIRTHET R7.8.20 =SS! BREE9(<8.1) BRHE9(<6.4) BRHEEY
2 SR T R7.8.20 4K BRHE9(<8.3) BREE9(<9.2) BRHEET
3 E%AH R7.8.20 =SS! BRHEHET(<L7.4) BRHET(<L7.0) BREed
4 FEH R7.8.20 =SS! BRHEE9(<9.6) B®RHEE9(<8.7) -
5 FEH R7.8.20 =SS! BRHET(<8.1) BRHET(<L7.9) BREed
6 At R7.8.20 =SS! BRHE9(<6.0) BRHEE9(<9.4) -
7 Zth R7.8.20 =Sy BRHE9(<8.6) BRHE3(<8.2) BEed
8 At R7.8.20 =SS! BREE9(<7.8) BRHEE9(<8.4) BT
9 =T R7.8.20 =Sy BRHET(<9.2) BRHE9(<8.6) BRHEET
10 BT R7.8.20 =SS! BREE9(<L B®RHE9(<8.6) BT

BaBEECIB T2 —BREBEROEEE 9L 100Bg/kg(t> 9 L-134, £ HL-13TOEEIE)




